EARAROBEEIERT — 2 N— IBISH —F

201555820 (+) 2M%E=3AH

4R e AN

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (A) 18000 B

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S v 4 3 | AHEF 1:47.8 11-11-11 [34.1| 87.4 | 7 504 | BEIFNE ()
1 &N 6 Vo YINY 56.0 (=) (+10) AETZ
LZFAT—IE BB IH—&— =¥ Tr— I
# 3 | AHEEHR 1:47.8 14-13-11 [ 34.0| 87.4 | 1 508 | BETT (E#)
2 2| PRI ATAT 2.0 ) o 7
LN=V774 B:Z)I7 HET77—L
; N t 3 | SHER 1:48.0 8-5-5 |34.7|85.2| 2 48 | EFME— (EH)
2] 2 RIEAREZS SV g 56.0 (1 1/2) © |AEE=
ANXZXTNT B:ILT7X4X5—FK PN AN
= 4 3 | SEEXH 1:48.2 2-2-2 |3.2|81.3| 9 432 | EBFE— (EH)
s Q12| NFIFT 54.0 ( 1/2) ) | B EvTLYET7—4
RFFARTFLT BINTTFI— SHE fER
= 5 3 | IHEES 1:48.3 11-7-7 [34.9| 82.0 | 8 444 | NBKR (EH)
5(1[1| b=BT17 56.0 (1/2) () |H Ho¥zA7 - ®NRAE
LA N—3IGA—L B:ib—U33Y H—L— - TvN> - Ty — LERE
= 4 3 | AHEEE 1:48.3 8-7-7 |34.9| 8.0 | 3 486 | HEIEEA (i)
6|5/10| TE-FINIT4 5.0 (75%) (o) | RS
LN=Y9774 B:IZ—FIE—-h BRT7—L
- 1L BEL :48. -1- . . FMHEE—BB (/)
715l g|FEx82 10T~ b i 3 B 1(14/82>4 1-1-1 [ 35.5| 79.0 | 4 gz) e
R:O—Y XA 44 BUNRF4—T> b HET7— L
D N = 4 3 | KEEER 1:48.4 5-3-3 | 35.2| 79.7 | 12 468 | ERER (EH)
8 71 =/42>2a77 56.0 (NF) () | EHIEAT
:aA>FaMdy b B4 7 N E%%%
TR o3 | BEES 1:48.7 14-15-13 [ 34.8| 77.8 | 5 486 | BmAE (EH)
9 3| VA—-KU2T 56.0 (1 3/4) 6) ) G1L-v>s
v NnNygh7r B:INTLAY HET77— L
e # 3 | AEEZ 1:48.9 16-16-15 [34.7 | 75.7 | 15 | 468 |RME#E— (%)
1|/ 77¥- 6.0 (1 1/2) o | HILEE
L:77NTFT B:/TAEYEZZ FH #FA
— oy 4 3 | FIBEK 1:49.1 5-9-9 356 | 71.9 | 6 450 | HOEZ (R
11)8[16| L T=~7/3 1% 8.0 (1 174) R
L:xA1=Yr7—2 B:wov—-F4F— =t e
N — = 4 3 | REER 1:49.1 1-9-9 [35.6| 71.9 | 13 | 444 |ZFR— )
EE 4| TINVTTI—h 56.0 () (o) |EEEL
L:2F4I—LK B:3Z23>F b HET7—L
S — o3 | KEHHIR 1:49.2 2-3-3  |36.1| 71.3 | 11 458 | BEB— (EH)
1317113 TV Y 56.0 1/2) (-) | BRI
IR E = F =0 = AT BEZ &Y K
RS it 3 | AtEiE 1:49.2 18-16-15 [35.0 | 72.6 | 14 | 430 |&AfE (M)
EHS ~1> K7 b+ [B] 54.0 (NF) +4) AmaEs
R:xA21=ZG7—R B:Ly KF17>— IJEILTRI AL R
< N 4t 3 | EDHE 1:49.6 17-18-15 [35.5| 68.2 | 16 | 474 | LRBZ (EiH)
151818 A7V >T7 742X 56.0 2 1/2) (o) | PHEEER
R:VZRB—IZ2&2— B:XT)YLTT5U-> R RS S
+ # o3 | AL 1:50.5 455 |87.2|59.9 | 18 | 442 |KERR— (X&)
160 14 5.0 ®) 42 | ) 2=F 2wt
L EY/TFTA5Z BEYI/ILIFR fisibie ]
N F L :50. —11- . . TREEM— (X7H)
1718117 L Fa—1) 7 X 4 3 i 1(520)8 8-11-13 | 36.8| 56.5 | 17 ig;t At
74 =TZhA4 B:wA4771T757 BHRESHH XEXT-—-TN
) S, o8 # 3 | HElEE 1:50.9 5-13-15 | 36.7 | 55.4 | 10 | 470 |BERFH (Eik)
18/ 7|15/ VT T AU A~ 56.0 ) RIS
R:E>/aJo4 B:I7xXEZTFIKCF HE77—L
@ 21 L
£y 47.2-34.9
NO>24 L | 12.8-11.4-12.0-12.2-12.2-12.3-11.9-11.4-11.6
® I—F—&EBIERL
13—7-
23—+— |9(12,13)-14(7,15,16) (8,10,17) (1,4,6) (2,3)11,18,5
== 9,12(7,13) (8,14) (1,10) (4,16) (6,17) (2,15)3-(5,11)18
43—F— (x9,12) (7,13) (8,14) (1,10) (4,16) (2,6) (3,17) (5,11,15,1§
[ RN
B Oj 6 3,140 794K 2-6 850 & 1-3 2,690 &R 2-6-8 3,620/
# B 6 410M 6-8 1,550 B E 2-6 2,750M EE 6-2-8 36,540
2 110 2-8 200M B H 6-2 8,850M
8 1609

ABICOVWTRDTEEERROODE. TR LIV,




